
60 min

LAUNDREEZY  LDA68   37202

 1

xxxxxxxxxx
serie: xxx............

...................

Hergestellt fur:
...................
...................



x12

x6

x12 x1

x14

x4

x12

x2

0 10 20 30 40 50

1 2 3 6
5x11

9
ø15

9A

x12

21
4x30

39
3x20

68
M4x25

x1

4A
4x16

x1

41

2

x2

54H

x4

38

x1

80A

x2 x2

x2

76A 76B

76C

x10

76D

3
8

c
m

67,5cm

67,5cm



DC
B

F

A

E03

E22 E40

E04

E21
E30

3

A B_(mm) C_(mm) D_(mm) E F

E03 660 380 16 1 1l1

E04 660 380 16 1 1l1

E21 642 640 16 1 1l1

E22 642 640 16 1 1l1

E30 652 374 3 1 1l1

E40 670 374 16 1 1l1



E03

E04

x6

2

x6

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

4



1

1

E22

E21
9

9

9

9

9

9

9

9

9

9

9

9

9

9

x6

9
ø15

x6

9
ø15

x4

1

x4

1

1

1

1

1

1

1

5

1

1

x2

54H

54H

54H



E04

E22

E21

9

9A

9A

x3

9A

9A

x4

6
5x11

E40

6

6
6

x2

54H

54H

54H



E30

E21

E22

E03

9A

9A

9A

9

9A

9A

x3

7



A=B A

B 

39

8mm

x14

39
3x20

39

39

39

39

E30

E21

21

x6

21
4x30

21

21

ϕ
5

8

39
39

39

39

LDS

LDA68

21
2121

39

38

38

38

38

38

x4

38

x4

1

1

1

1



76C

76B

⁁

76A

⁁

x2 x2 x2

76A 76B 76C

ɸ
8

x1

41

x1

4A
4x16

9

41

41

41

41

4A

80A

x1

80A

x10

76D

76D

76D

5454

76
76

E22

E40



380m
m

3
4

3
m

m

642mm

Max

5kg

10

E22

E40

x1

3

x2

68
M4x25

3

68 68

68 68

 3



11



12



60 min

LAUNDREEZY  LDA50   37201

 1

xxxxxxxxxx
serie: xxx............

...................

Hergestellt fur:
...................
...................



2

0 10 20 30 40 50

x12

x6

x12 x1

x14

x4

x12

x2

1 2 3 6
5x11

9
ø15

9A

x12

21
4x30

39
3x20

68
M4x25

x1

4A
4x16

x1

41

x2

54H

x1

80A

x4

38

500mm

3
8
0
m

m

676m
m



3

B40

B04

B20

B30

B03

B20

A B_(mm) C_(mm) D_(mm) E F

B03 660 380 16 1 1|1

B04 660 380 16 1 1|1

B20 468 640 16 2 1|1

B30 478 374 3 1 1|1

B40 496 374 16 1 1|1

DC
B

F

A



4

9
1

x12

9
ø15

x8

1

1

1

1 X2
B20

9

9

9

9

9

9

x6

2

2

2

2

2

2

2

x2

54H

2

54H

54H

B03



5

x6

2

2

2

2

2

2

2

2

B04

B40

x2

54H

x4

6
5x11

54H

54H

6
6



6

9

9A

9A

x6

9A

9A

9A

9A

9A

9A

B03
B20

B20

B03 B20

B30



7

39

8mm

21

x6

21
4x30

21

21

ϕ
5LDG50

 LDA50

21
2121

B30 39

39
39

39

39

39

39
39

A=B A

B 

B20B03

x14

39
3x20

x4

38

39

38

38

38

38

38

x4

1

1

1

1



8

ɸ
8

x1

41

x1

4A
4x16

41

41

41

B20

68

68

 3

x2

68
M4x25

x1

3

B40 54H

54H

41

4A

80A

x1

80A



9

468mm

646m
m

3
4
6
m

m

Max

Max

5kg



10



11



120 min

LAUNDREEZY  LDG50  70202

 1

xxxxxxxxxx
serie: xxx............

...................

Hergestellt fur:
...................
...................



2

x12

x8

x10

x8

x12

x12 x1

x12

x24 x2

x6

x4

x2

x6

x6

0 10 20 30 40 50

x4

1 2 3 4A
4x16

6
5x11

9
ø15

9A 10 10K

13 22 22A

38 39
3x20 41 54H

80A

x2

x14

11
3.5x13

x1

26

16

x1

x2

68
M4x25

x16

4F
4x35

1
6
2
c
m

67.5cm
50cm



3

DC
B

F

A

D21

D10

D04

D10

D30

D02

D03

D40

D01

D61
D60 D61

A B_(mm) C_(mm) D_(mm) E F

D01 502 660 16 1 1l2

D02 468 640 16 1 1l2

D03 1504 660 16 1 2l2

D04 1504 660 16 1 2l2

D10 468 630 16 3 1l2

D21 468 628 16 1 1l2

D30 1506 478 3 1 2l2

D40 1516 496 16 1 2l2

D60 500 100 16 1 1l2

D61 634 100 16 2 1l2

2628



4

D03

D04

54H

54H

54H

54H

1

1

1

x4

54H

x2

1

x6

2

2

2

2

1

1

1

2

2

2

x2

1

x6

2

2

2

2

2

2

2

2

2



5

1

9

9

9

9

9

9

1

1

1

x4

1

x6

9
ø15

D02

D40

54H

54H

54H

54H

6
6

x8

6
5x11

x4

54H

9

1



6

1

9

9

9

9

9

9

1

1

1

x4

1

x6

9
ø15

D21

9

1

9

9A

D03

D02

D21

D04

x12

9A

6
2
8
m

m

6
4
0
m

m



7

22

26

22

22A

x6 x6

22 22A

x1

26

D30

D03

D01

22

22

22

22

22

22



8

x10 x20

38 39
3x20

39

38

39

8mm

A=B A

B 

39

38

38

38

38

39

39

39

39

39

38

38

38
38

10

10

10

10

D30

D30

D01

710mm

10

x4

10

4F

100m
m

10

x16

4F
4x35



9

10K

10K

11

11

11

11

D60 x12

11
3.5x1310K

x6

D61

4
0
m

m

D60

10K

D30

4
0
m

m

D61

D61

10K

10K

D30

D61

4
0
m

m

4
0
m

m

4
0
m

m

45mm 45mm

22mm 60mm

60mm 22mm

D30

D01

10K

11
11

10K

D60
D61

D61

10K
10K

10K

10K
D61



10

x2

41

x2

4A
4x16

ɸ
8

1.

2.
41

4A

41

41

80A

x2

41

4A

80A

41

41

D10

D10

x8

13

13

13

1313

13



11

D40

54H

54H

54H

54H

x4

39
3x20

16

x2

11
3.5x13 16

x1

D40

16

39

D40 16

11

D04
16



12

x1

3

x2

68
M4x25

3

68

68

ϕ5

3

68

68

D40

D40

D40



13

468mm

628m
m

628m
m

628m
m

640m
m

3
5
7
m

m
3
1
4
m

m
3
8
8
m

m
3
8
0
m

m

Max

10kg

Max

5kg

Max

5kg

Max

5kg

MaxMax

10kg



14



15


	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15

